= o
A & 0l & AF 2 E A A
PN H2Z AL
M FUZANEH
& 2T AIZe (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
32T Al 19,718,910 20,308,232 A 589,322
= 14,500
Xl 6,094,000
< 12,000
s 13,598,410
AT ATY 12,002,725 14,540,351 A 2,537,626
X 1,424,000
< 12,000
[ia 10,566,725
2T Al 22 6,465,822 1,722,702 4,743,120
Xl 757,000
[ia 5,708,822
SANHE =¥ 477,967 459,995 17,972
101 @14l 16,358 11,986 4,372
04 JI2ZtHZ22HEE =+ 16,358 11,986 4,372
o TANE MauYH 2XoSY
52,160& = 1 = 280¢ 14,605
o AHEE = 14,605,000& * 12% 1,753
201 £B-2%H| 18,909 15,309 3,600
01 At 22/l 18,909 15,309 3,600
<2YUsy > 0
o 2SN S AV BAH L A>T
100,000& = 108 = 123 12,000
< SE¥Hl > 0
o ABTAYR =T |
,000& » 7% 141 6,909
202 04l 8,700 8,700 0
01 = LH 4 Hi 8,700 8,700 0
o BHZAESR F& 20,0008 » 5 = g7 8,700
203 YR =& 4,000 4,000 0
03 A Z=XH R =AY 4,000 4,000 0
o AT AYGR =X 1,000,000 * 4= 7| 4,000
401 AIEHI L 201 430,000 120,000 310,000
01 A& HI 400,000 100,000 300,000
o JMLAY =& 100,000,000& * 24! 200,000
o HHP BROXY EHEY 48 B
200,000,000& * 14 200,000
03 Al 2 THHI 30,000 20,000 10,000
o ZANHE BNz ¥ F2 S MHEFA
5,000,000& = 62 30,000
XotxtE 22l 424,260 68,360 355,900
201 Let249y| 46,260 39,360 6,900
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PN H2Z AL
M FUZANEH
ol AT A2 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 46,260 39,360 6,900
<E3S2SEHMA > 0
o Xt 8IJI2= 2,100,000& * 128 25,200
o ZFAXNSIXNE AHE 3 AIEZ
31,2503 = 4314 « 128 1,500
o ZEXGHHE SZIICCTV sl ALER
100,000& » 13/ & « 123 1,200
< AEEHIKXH > 0
o ZdXotXE &I|etd 2telt|
250,000& = 12& 3,000
o ZdXotXE s2I| 2l
330,000& = 12& 3,960
o Z4dXNotXE A CHEd]
3,800,000& =+ 33l 11,400
401 Al HIZ 201 8] 378,000 29,000 349,000
01 A& HI 378,000 29,000 349,000
o ALXNSHAE w22 18,000
-2 EEE F4 20,000& * 400m 8,000
- SHZ WA 250,000& * 40 10,000
o Xotxe EHNSA MHEAMY
40,000,000& = 14 40,000
o NotiE E+BLAM(MEE S)
320,000,000 » 14 320,000
SASE =4 E 22 1,009, 140 8,251 1,000, 889
201 Let2d] 7,940 7,651 289
01 At 22l 3,000 4,911 21,911
<Yz > 0
o ¥ ==z FH X 500,000& * 6 3,000
02 2324l 4,940 2,740 2,200
<SS ZAHAM > 0
o 3% & -0tk MER 20,000& » 123 240
o S¥ &I 100,000& » 12& 1,200
o S BasHE 250,0003 * 204 500
< AEEUIKXH > 0
o SEANES RANE=S 500,000& = 63l 3,000
202 Odl 1,200 600 600
01 = LH 4 4l 1,200 600 600
o Z® 2ol S Y2 =N
20,0003 = 3H » 20 1,200
401 Al HIZ 201 Y| 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
o BHTE MY L S
1,000,000,000& * 14l 1,000,000
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2N
X ZH -
L= B
el

& Al
dECANZH
dE A2

(o
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
=SMTE K3 ALY 12,978 12,096 882
101 212 8| 12,978 12,096 882
04 JIZtNZ22XNSE+ 12,978 12,096 882
o SMlls= M=z S 2¢d
82,400% = 5& » 30€ 12,360
o AUHEER 12,360,000& * 5% 618
AN SXNEAL-SIILes E2L2AE XA 1,257,000 750,000 507,000
X 757,000
= 500,000
401 AIEHI L 2CHYI 1,257,000 750,000 507,000
Xl 757,000
= 500,000
01 A& Hl 1,252,492 748,125 504,367
o &Jlllzs EERAE EXZAMZ
1,252,492,000& = 14 1,252,492
Xl 754,376
= 498,116
03 AlZ 2 THHI 4,508 1,875 2,633
o XNA+=QASXAMY F&(0.36%)
4,508,000% 4,508
Xl 2,624
s 1,884
OtSEH & I3 =AY (LH3XH) 2,800,000 0 2,800,000
403 TR M SA=01A 2,800,000 0 2,800,000
02 BJI2SOS Xt 0 At 2,800,000 0 2,800,000
o OtSEHIE 33FEAY FA(LH)
2,800,000,000& * 14 2,800,000
AZRANE Z2HE = 55,060 0 55,060
201 fEt2E | 47,860 0 47,860
01 At 22l bl 47,860 0 47,860
<gg =24 > 0
o HiOIE OHAHNE S 9,000,000& = 22 18,000
o CIXtel OI0IX F#Y= 1,500,000 = 14! 1,500
o AZ2AEl E2= HA 5,000,000& * 23] 10,000
o NAMMA 58 L S=
5,000,000& = 14 5,000
<2g+¢ > 0
o UMY NESE
100,000& = 10 = 103l 10,000
< sl > 0
o mRHE U2 Izt
7,000 * 4% » 1202 3,360
202 o4 Hl 7,200 0 7,200
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2N
X ZH -
L= B
el

& Al
dECANZH
dE A2

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 2L I 7,200 0 7,200
o EZME H2 =X 20,0008 * 4% % 90 7,200
NENEXS-HL S XA 7 DA E ALY 429,417 224,000 205,417
401 AlEHIZL 2 0HY| 429,417 224,000 205,417
01 Al& H| 429,417 223,440 205,977
o WE=XX P JBIAIE MY (ASEHIZ2KAZX
AT ALY, WEX 7 ZSHEH)
429,417 ,000& 429,417
e HI St 22| 627,000 1,137,800 A 510,800
N 567,000
= 60,000
JHE M 22l (EX) 27,000 27,000 0
Xl 27,000
201 et 27,000 20,000 7,000
Xl 27,000
01 AFR 2t 2| bl 27,000 20,000 7,000
o NLHBTH B N22E 7Y =
27,000,000 27,000
Xl 27,000
N HI SRS MED|BEALY 600,000 0 600,000
Xl 540,000
= 60,000
401 Al HI L 2 0HHI 600,000 0 600,000
Xl 540,000
= 60,000
01 Al& H| 596,400 0 596,400
o A& F~ZA2F T2 0 MHILE Z2AH
198,800,000& * 14! 198,800
Xl 178,920
= 19,880
o A2 FHOIS Hi£&=2 ZHIZ2A
198,800,000& * 14l 198,800
Xl 178,920
= 19,880
o 4 0LAOS B2 FZHIZ2 A
198,800,000& * 14l 198,800
N 178,920
= 19,880
03 Al& 201 Y| 3,600 0 3,600
o HEYMSEHTRHE ME )| BEAY 3,600,000& 3,600
Xl 3,240
= 360
SAIDHE 22 4,909,903 7,770,099 N2,860,196
Xl 100,000
= 12,000
= 4,797,903
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A B2 AIDL
M HAATAIXZH
CH]: S AIJf 22 (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
CANHEEZ & 4,575,343 7,124,974 N2,549,631
101 Q124 H| 5,477 5,108 369
04 JI2ZtHIZ22 NEES 5,477 5,108 369
o &2 ANAdE 22 oY
52,160& * Hh&H » 20¢ 5,216
o AUBEE = 5,216,000 * 5% 261
201 LBt Y| 4,616 4,616 0
01 AP 22| d| 3,416 3,416 0
< = EHl > 0
o TANESELR =& 2|
7,000 * 49 * 122 3,416
02 2%l 1,200 1,200 0
< BZ2L2YLHA > 0
o £ ANEE £E22 S 100,0008 ~ 12& 1,200
202 044l 2,880 2,880 0
01 2L Y| 2,880 2,880 0
o TAMNESER =& 20,000 = 3¥ = 48Y 2,880
206 M = H| 2,370 2,370 0
01 X2 H| 2,370 2,370 0
o T2 AMAEE THFALE MEs 7L 2,370
- E|H| 3,100 * 40L& 124
- B3 5,000 = 40% 200
- Hl = 19,800& * 2& » 10 396
- A=22SH 300,000 = 33| 900
- JIEFM2 (M=, &M S)
25,0008 x 10& * 33 750
401 AlEHIZ £ 0HY| 4,560,000 7,110,000 A 2,550,000
01 Al&Hl 4,550,000 7,100,000 A 2,550,000
o FZEOIIME & TAHEZZ
500,000,000& = 1A 500,000
o HHU-HSDI U CAHHER
2,400,000,000& = 14! 2,400,000
o NAAYHE Q& TAIHEEZZ
700,000,000 = 14! 700,000
o AM HAL-BITEAD 2 CAHEER
500,000,000& = 1Al 500,000
o AJIK B & D2 B0 &4
250,000,000& = 14 250,000
o TAHEEZZ SX22 2,500,0008 * 80km 200,000
03 AlEE2HH]| 10,000 10,000 0
o TAHEZZ A=A 10,000,000& 10,000
MNEAEZ WL 20,000 20,000 0
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SH: FBEAID
HE: FRCAEY
et CAN R

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 20,000 20,000 0
01 A& HI 20,000 20,000 0
o NENHE=z RA&2 1,000,000& * 20km 20,000
202 el 172,560 625,125 A 452,565
201 L4l 10,400 10,400 0
01 At 22l 7,400 7,400 0
< LBh=2Hl > 0
o SQ&1S B RABAHl X=(HY)
316,660 * 123 3,800
o EY &10s FHl JIF 72
200,000 * 110HA 2,200
<2gsy > 0
o AWHY FASANE 294y
70,000& = 10¥ =« 23| 1,400
02 =224l 3,000 3,000 0
<E32SEHMA > 0
o E82F s &JIes 200,000& = 12& 2,400
o B2E S =23 50,000& * 123 600
401 AIEHI L 2 CHYI 162,160 614,725 A 452,565
01 A& HI 160,000 610,000 A 450,000
o 4= DZTEEZ CAL EH L XA
150,000,000 * 14! 150,000
o SIS AU SN
250,000 * 2004 & 5,000
o E2Y |A&2idl 5,000,000 = 10H 4 5,000
03 Al 2 THHI 2,160 4,725 N 2,565
o Hd= DlaiT&E2 CIA A &« AxAd
= 300,000,000& * 0.72% 2,160
FHAXNA HE(ZAN-&ItS MSOHS ALY 142,000 0 142,000
Xl 100,000
= 12,000
[ia 30,000
401 AIEHI L 20HEI 142,000 0 142,000
Xl 100,000
< 12,000
s 30,000
01 A& Bl 142,000 0 142,000
o TA MS0tSAY 142,000,000& * 14 142,000
Xl 100,000
< 12,000
e 30,000
SEXNIMLY 7,326,799 5,417,265 1,909,534
2 14,500
Xl 4,584,000
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AN 2T AD
M sEXNANLE
Sel: SEYEIUTY (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 2,728,299
sEHF:D|gx Y 1,441,799 2,081,978 A 640,179
Xl 713,000
s 728,799
STHEEE HRFA 5,799 5,799 0
201 £B-2dH| 2,919 2,919 0
01 At 22l 2,919 2,919 0
< S EHl > 0
o sENLUS =T Y|
,000& » 3% » 139 2,919
202 o4dl 2,880 2,880 0
01 = LH o4 1l 2,880 2,880 0
o SEMNLYSF F& 20,0008 « 3H * 482 2,880
JlzMEolDet-MEs A (HLE2) 1,019,000 1,471,179 A452,179
Xl 713,000
[ia 306,000
401 A& BIZ 201 8I 1,019,000 1,471,179 A 452,179
X 713,000
s 306,000
01 A& HI 1,015,345 1,466,782 AN 451,437
o SEMBHATYA(SY)
1,015,345,000& * 14 1,015,345
X 710,740
i 304,605
03 Al 20 HI 3,655 4,397 AT42
o =EMESA™UIAY =Z(0.36%)
3,655,000 3,655
Xl 2,260
[ia 1,395
FOBHAANE 29 357,000 565,000 A208,000
401 A& BIZ 201 8I 97,000 297,000 A200,000
01 A& HI 97,000 297,000 A 200,000
o O3 SZMEAS
970,000& * 1000 2 97,000
402 RI2EXt20l ™ 260,000 268,000 A 8,000
01 QU2 X2 AP 2 2= (REXIXH &) 260,000 268,000 A 8,000
o O3 AE 40,000,000& * 1= 40,000
o ts3l& &= 15,000,000& * 2& 30,000
o 023 & E=+ 5,000,000& * 1690 2 80,000
o 2F HY 10,000,000& * 20 £ 20,000
o 0223 B+ 3,000,000& * 300 2 90,000
SEUEEZHIAY 60,000 40,000 20,000
402 RIZ2HXt20l ™ 60,000 40,000 20,000

- 349 -




2N

M sEXNY
Sl SEFFIIBEY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 2IZEH 2 A B (KR ) 60,000 40,000 20,000
o sHEUZEUIAY 1,000,000& * 60= 60,000
EXE Ot ¢Sl 1,236,000 753,572 482,428
= 14,500
Xl 846,000
e 375,500
JIEMEIIBHS-0ISHATHNL (HBAH) 349,000 338,572 10,428
Xl 245,000
e 104,000
401 Al HI L2 THHI 349,000 338,572 10,428
Xl 245,000
s 104,000
01 A& HI 346,505 336, 131 10,374
o A& o FXUMUSUSIIAMG
346,505,000 * 14 346,505
Xl 243,253
[ia 103,252
03 A& =2 THHI 2,495 2,441 54
o .Y FIOSUSIIANY =X
346,505,000& * 0.72% 2,495
Xl 1,747
s 748
I EMEISSE-AACIABHNL(ELS) 658,000 415,000 243,000
Xl 461,000
i 197,000
403 UtXISHH S A0l & 658,000 415,000 243,000
Xl 461,000
e 197,000
02 SO 2SO S22 X HE AL B 658,000 415,000 243,000
o EZsdY FX0S2SDI
658,000,000 * 14! 658,000
Xl 461,000
[ia 197,000
NEdsds-AAUASE ML (ELS) 200,000 0 200,000
Xl 140,000
s 60,000
403 MtXSHHE A0l E 200,000 0 200,000
Xl 140,000
s 60,000
02 S 2SOHHE A2 X HEH Ar H 200,000 0 200,000
o EZsdY FX0S2SVI
200,000,000& * 14! 200,000
Xl 140,000
e 60,000
FOZET DISUSINR (ST T) 29,000 0 29,000
= 14,500
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2N
X ZH -
L= B

el

AT D
SEIVED/
ZEH 02 9 S

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
o 14,500
307 2iz2to| A 29,000 0 29,000
- 14,500
= 14,500
05 QIZ2tREF 2 29,000 0 29,000
o =ES&EH 29,000,000 = 14! 29,000
= 14,500
= 14,500
SEZTAX 2483 ALY 3,831,000 2,281,715 1,549,285
N 2,682,000
= 1,149,000
NAAZFUSZ-UBT (RS, B2S) 300,000 0 300,000
N 210,000
= 90,000
401 A& H|IZ 2 0HY| 300,000 0 300,000
N 210,000
= 90,000
01 Al& H| 297,855 0 297,855
o AHE SETHXNEHSAY
297,855,000& = 14l 297,855
N 208,499
= 89,356
03 A& £ 0HH] 2,145 0 2,145
o AMES SESTANEHSAIYE =X
297,855,000 * 0.72% 2,145
Xl 1,501
= 644
Moz sh-2 o X 7 (S5 8) 500,000 515,715 A 15,715
N 350,000
o 150,000
401 AlEHIZ 2 0HY| 500,000 515,715 N 15,715
N 350,000
= 150,000
01 Al& B 496,423 511,999 N 15,576
o S3H SESHXNEHGAY
496,423,000 = 14l 496,423
Xl 347,496
iy 148,927
03 AlE 2 HH]| 3,577 3,716 A 139
o E3H SsESTAANEHSAIYE =X
496,723,000& * 0.72% 3,577
N 2,504
= 1,073
IIEMEI|PHE-UBX D (RES, HRS) 174,000 0 174,000
N 122,000
= 52,000
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PN H2Z AL
M sEXNANLE
&??: sESAX 245 ALY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
T AEHZXEUY 174,000 0 174,000
X 122,000
s 52,000
01 A& HI 172,756 0 172,756
o FEE SESHNEHIIMY
172,756,000& * 14 172,756
Xl 121,129
s 51,627
03 Al 2 THHI 1,244 0 1,244
o HHE =ESHXNELEIAMNY =X
172,756,000& * 0.72% 1,244
Xl 871
i 373
Jl=Me)|tas-dut X A (SstH) 143,000 0 143,000
X 100,000
s 43,000
401 Al HI R 201 I 143,000 0 143,000
Xl 100,000
s 43,000
01 A& HI 141,977 0 141,977
o SHH SESHNELEAY
141,977,000& * 14 141,977
X 99,284
s 42,693
03 Al 2 THHI 1,023 0 1,023
oS3 SEZTANBLINY FA
141,977,000& * 0.72% 1,023
Xl 716
e 307
IZME)HHE-SHALATHX U ALY (S6HH) 2,714,000 1,766,000 948,000
X 1,900,000
s 814,000
403 UHXSHHSA=0l& 2,714,000 1,766,000 948,000
X 1,900,000
s 814,000
02 SJ|1 2SOl CHSHAt 2 X O & AF I 2,714,000 1,766,000 948,000
o SotH SESAUXNE LAY
2,714,000,000& * 14 2,714,000
Xl 1,900,000
s 814,000
ANzt 818,000 300,000 518,000
Xl 343,000
s 475,000
A 2AoALS 300,000 300,000 0
401 AIEHI L 201 300,000 300,000 0
A& HI 300,000 300,000 0
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2N FETAD
Mo =& ol
Sl Al 2 &)
s = SRE]
SN P SA(EN) - MBAY - BES e HlDE2
S 8N UCE #=0t2 JHRIIAY
200,000,000& * 14 200,000
o UGS MHENLAIE B2E <& Master P
lan =& 100,000,000& = 14| 100,000
TARBML-ARHO(BR2LAE Q2L &I H 120,000 120,000
2 022t 101)
Xl 84,000
[ 36,000
401 AlIEHI L 20 HI 120,000 120,000
Xl 84,000
= 36,000
01 Al &bl 120,000 120,000
o URDAE QAHY FIIFA 012 IR
120,000,000 * 14 120,000
Xl 84,000
i 36,000
KNAAS2AF A2 (LZRAIE 2288 &I H 100,000 100,000
2 022t 301)
N 70,000
= 30,000
401 Al Bl 20 HI 100,000 100,000
N 70,000
= 30,000
01 Al &t 100,000 100,000
o URLAE Y FIIHY 012 I3
100,000,000& = 14| 100,000
Xl 70,000
= 30,000
N A2AG A2 S2AS(EH2) 100,000 100,000
Xl 70,000
i 30,000
401 Al Bl 208 100,000 100,000
Xl 70,000
i 30,000
01 Al&tl 100,000 100,000
o ANZS&LS 100,000,000 = 14 100,000
Xl 70,000
= 30,000
MAASAS-HEN AN (2H| ZADHNE ! 93,000 93,000
MBS 2MoE)
Xl 56,000
i 37,000
307 Qi2tol & 93,000 93,000
N 56,000
i 37,000
05 2IZ2+RIE S 93,000 93,000
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2N
X ZH -
L= B

el

2t A
@%Dl.gxl\ﬁ

=S

sUHE HOSd =4

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o AUEE s 7,824,000& * 5% 392
201 LEt2AY| 12,078 18,578 A 6,500
01 AFR2t2l bl 1,578 1,578 0
< b= H| > 0
o M| BEHHNSE 7
1,050& = 3000 ~ 12& 378
o ZESEA 2H ARE RAU(SHEX )
100,000& = 12& 1,200
02 35244l 10,500 17,000 A6,500
< 3S3LSBYLAA > 0
o HOI2Y 22223(&D], &6tE+E )
666,600& * 12& 8,000
< A& Y KXH > 0
o Aldzel & HHIKAX 2,500,000& * 104 2,500
206 M= Hl 4,559 4,559 0
01 X2 bl 4,559 4,559 0
o xPAE Mg #¢ 4,559
- &yl 3,100& * 150% 465
- g3 5,000& = 150% 750
- HZ 19,800& * 2= * 151 594
- X225 H 300,000& * 53] 1,500
- JIEFHE (M=, gl 5)
25,0008 * 105 * 53 1,250
HOIES AIUAEE 24 16,921 5,998 10,923
101 @121l 6,573 0 6,573
04 JI2ZtH 22 XNHEE =+ 6,573 0 6,573
o HOI2S AIAIEEZE 22| o8
52,1603 = 12 = 10 6,260
o AUIBE &= 6,260,000& * 5% 313
201 LEt2 Y| 500 500 0
01 At 22l Yl 500 500 0
< Ol=sHl > 0
o AEE 22 Hgs L HHF
100,000& * 59 500
206 M = Hl 9,848 5,498 4,350
01 & bl 9,848 5,498 4,350
o AIAIEE 249 e 7 9,848
- &yl 3,000& * 356 1,068
-HZ 8 19,800& * 2& * 50% 1,980
- H=H 750,000& = 23| 1,500
- X225 H 600,000& * 83l 4,800
- JIEet2gNs 500,000& * 1JH 4 500
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fA:H
RS
ol o

2T Al
2otE2xd

2 =g

=

=

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A =022 189, 188 140,574 48,614
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